Answer Key to Practice Exam No. 1

1. D

2. B

3. A

4. D

5. D

6. B

7. B

8. D

9. A

10. D

11. A

12. B

13. 4800

14. C

15. D

16. A

17. B

18. B

19. A

20. B

21. B

22. B

23. A

24. D

25. A

Problem 1 

Accounts receivable 
200,000

Inventories                
225,000

Total C.A


480,000

Net Fixed Assets
         1,020,000

Total Assets
         1,500,000

Notes Payable 

160,000

Total C.L. 


300,000

L.T. debt


600,000

Total Debt + Equity       1,500,000

Problem 2

1. No Change

2. C.R. increases

3. C.R. decreases

4. C.R increases or C.R decrease

5. C.R. increases

6. C.R. increase

Problem 3

May cash in 62000, cash out 59000

June cash in 72000, cash out 93000

Net May 8000
Net june (13000)

Problem 4 

BE = 1,250

Problem 5

Profit = 270,000

